Psychology Year 12 Transition Challenge Part 2 — Additional Information for Task 3

Task 3 Scenario:

Sam is five years old. His parents describe him as a ‘typical boy’. Sam displays masculine
behaviours; he prefers to play with ‘boys’ toys such as cars and trucks, and loves to play
football with his Dad and older brother. When asked what he wants to be when he is
older, Sam replies ‘l want to be a fireman’.

Using three of the approaches you have researched in
task 2, how could they be applied to the scenario above
to explain Sam’s gender development?

1. Biological Approach: Consider the role of hormones and/or chromosomes to explain
why Sam may demonstrate typical masculine behaviours.

2. Cognitive Approach: Research ‘gender schema theory’ and using the concept of the
term ‘schema’ explain why Sam opts to partake in typical masculine behaviours.

3. Social Learning Theory: Using the key terms associated with SLT (e.g. observation,
imitation, role models, etc.) explain why Sam is developing a masculine gender identity.

4. EXTRA: Which approach do you think best explains Sam’s behaviour and why?

Use the handouts and your own research to complete the task above. The key definitions of
each approach will aid you in this task. Ensure that you are applying specifically to Sam’s
scenario each time. This task aims to develop your use of specialist key terminology,
descriptive skills (AO1) and applications skills (AO2).

What will this piece of work look like?

You have a variety of options to present your work. You could write up/type your notes into
a word document, create a short presentation to display your findings or be more creative
with this task e.g. fact files, informative poster, etc.

Remember, the transition challenge task will be made up of an assessment based on the
four approaches you have researched. This could include some questions linked to the
application of gender so make sure you spend sufficient time completing this task!
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